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g g L
[ Physics : Section-A (Q < T The terminal voltage of the batiery, whose emf s
: ;.:i:lmnl‘ -nh;::ﬁk$r:h::ﬂln“. If its lincar 10¥ and internal resistance | {). when connecied
speed is v in the direction shown, which one of through an external resistance of 4 02 as shown
lhefoﬂnwtnguplkmsismrﬂl{f"ﬂd Q“I:::l} in the figure is :
highest and lowest points on the wheel,
respectively)? __ifl'
v :"l""li.fl I
3 . A
) (1) 6V 2) ll':
. (3) 0¥ (4) 4¥
(1) I’uinl!’numfaﬂu’ﬂunpoﬂﬂ-_
(2) Both the points P and Q move with equal
speed. ! “ . Eﬁzl
(3) Point P has zero speed. 0 hmﬂnﬂmﬁuﬂ.ﬂl’mﬂlﬂﬂﬁl 3
4) Point P moves slower than point {J.
3 T Th:rﬂiul’_:l’f'uqulm(ﬁemrMBmy
2 Match List | with List Il their usual meaning) :
List I List 11 (m 2:1 @ 1:1
(Spectral Lines of (Wavelengths (nm)) @) 1:4 4 1:2
Hydrogen for
; Ali#mm“aﬁ#wmu
A. m=3om=2 I. 4102 s Pl the anals of iacid 30° as st
B. m=4tom=2 I 434.1 in figure. It travels through the prism parallel o
- its base BC and emerges along the face AC. The
C- r’:-smmﬂa l“u 55‘-3 ﬁ 4 . I D‘M . .H:
D. m=6tom=2 IV. 486.1
Choose the correct answer from the options given
below :
(1) A-lI, BV, C-11, D-1
(2) A-IV, B, C-1, D-1I
(3) A-L B-IL C-lIL DIV
(4) A-IL B-L, C-IV, D-1lI
V3
3 A thermodynamic system is taken through the (1 % ) 74
cycleabeda. The work done by the gas along the
path Ac is : 5 v
F 4 (3) T 4) T
nT ..-4 “ e _
4 The quantities which have the same dimensions
100 kPut ==~ ; as those of solid angle are :
: T (1) stress and angle
100 cen’ r_',-‘ (2) strain and arc
(3) angular speed and stress
(n oJ (2) 90J (4) strain and angle
(3) -60J (4) zero
Contd.
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8 A thin flat circular disc of mdius 4.5 om is placed | 11 1f the monochromatic source in Young's double
gently over the surface of water. If surface tension slit experiment is replaced by white light, then
of hitani] Is .07 Nm~!, then the excess lvree (1) there will be acentral dark fringe surrounded
required o take it away from the sirface is : g few coloured fringes.

(1) 198N 5 "‘fg (2) there will be a e&ntral bright white fringe
(3) %N :4: ,--{q 2 m: surrounded by mi'-' coloured fringes,
d,‘ Am (3) all bright I‘ringﬂirlll I_-jenl'mqunlwidlh.
\ o (4) interference pnﬁ;h will disappear.

9 Given below are two stateents: one is labelled —

as Assertion A and the @her is labelled as | 12 Given below are twdshatements :
Reason R. o Statement I : Atomildre electrically neutral as
Assertion A : The potential (V) atany axial poim, “myl-‘,:‘.l:T;;“mns.mu?l e L
L I
at 2 m distance(r) from the centre of the dipole b
; <.,
of dipole moment vectard p of magnitude,
4% 105Cm, is +040? @
| o e ht'l and § I
i ” g (1) Both Stateme and Statement Il are
(ke O e F2107 51 ughs) incorrect. &
g (2) Statement | isdarrect but Statement 11 is
P incorrect.
Heason R : V= . : k.4
> Axeyr® Whete 7 is the (3) Statement | is incorrect but Statement II is
< N i i correcl. =7
distanee ﬂrlﬂj' axial Pﬂlﬂﬂltﬂﬂtﬂﬁ at 2 m from {4:. Roth Stntemep:.]l and stﬂtﬂ‘mt‘lﬂ Il are
the centre of the dipole. correct. o
In the light of the above sfalements, choose the -
correct answer from the given below: 13 The maximum elongation of a steel wire of 1 m
(1) Both A and R are trpe, and R is NOT the length if the elastic Umit of steel and its Young's
correct explanation ofd. modulus, respecti are 8 x 10* N m~2 and
(2) A is true but R is false. EI“ 1{}“1; Nm2,is:
(3) A is false but R is true. (1" 04 tuer e
(3) $mm wy(4) 4mm
(4) Both A and Rmm?_rnd R is the correct -
explanation of A, A 14 Consider the followsgg statements A and B and
o khmﬂiﬂwcnmunﬂymmn

10 Ina uniform magnetic fieldof 0.049 T, a magnetic
needle performs 20 complete oscillations in
5 seconds as shown. The Wt of inertia of the
needle is 9.8 = 1074 kg m™.If the magnitude of
magnetic moment of the needle isx = 10-5 Am?;
then the value of *x" is ; A. !"nr a solar-cell, the 1-V characteristics lies

o . :':l":ﬂl'!_ t of the given graph,
ffl - reverse bidsed pn junction diode, the
- - current i ; 2
sty (o)} e in (p4)., is due to majority
o (1) Aisi ‘
(1) 1282 (2)050 7 () BothAand .:B b iy
! =) ik (3) . orrect,
(3) 1280 7° (4105 77 e Tilgh“"d B 81t incorrect.
Correct is incorrect,
R1_English | 3
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15 A particle moving with uniform! specd

path maintains -

(1) constantacceleration. .cleration,
(2) constant velocity but varying ka.tcmliml.
(3) varying velocity and varving aced

(1) constant velocity.,

16 1fcisthe velosity of Tight in free space: ""‘ifj,.i’f.? :
statements about photon amang the fo =
anc . i
The energy of a photon is Emlivo "
The velocity of a photon is ¢4

A E
The momentum of a photon, p=-_""

In a photon-electron collision. both total
energy and 1otal momeniuin are

E. Photon possesses positive charge- _
Choose the comect answer from the options given
below :

(1) A, B.Cand D only

(2) A,Cand Donly 21
{(3) A,B,Dand E only

(4) A and Bonly i

o n BpF

17 Two bodies A and B of same mass undergo
completely inelastic one dimensional €ollision.
The body A moves with velocity v, while body B
is at rest before collision. The velocity of the
system after collision is v,. The ratio vy : v, is:
(1 2:1 (2) 4:1 : 22
(3) 14 (4 12

]
18  The graph which shows the variation of [F]
and its kineticenergy, Eis(where 7 isde Broglie
wavelength of a free particle)

) 3= @ 7
T T
o o E

R1_English | 4
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An unpolarised light beam strikes foke
nt Brewster’s angle. Then “Surface

i e relracted li
b ::nlnriscd. AR Complerety
(2y  hoth the reMected and refracied [
completely polarised,
(3) the reflected light will be com
polarised but the refracted lighy
partially polarised.

(4)  the reflected light will be partially Polarise

2ht will e

Pletely
will be

At any instant of time ¢, the displacement of

particle is given by 27— | (5] unit) under the
influence of force of SN, The valye of
instantaneous power s {in 51 unit )

(1) 5 (2) 7
{3) 6 (4) 10

A tightly wound 100 turns coil of radiys
10 em carries a current of 7 A. The magititude of
the magnetic field at the centre of the coil is(Take
permeability of free space as 41077 Sl umitsy
(1) 44T (2) 44mT
(3) T - (4 4mT

The moment of inzrtia of a thin rod about an e
passing through its mid point and perpendiculy
to the rod is 2400 g em?. The length of the 400
rod is nearly :

(1) 17.5em (2) 20.7cm

(3) 72.0em (4) 85cm

A bob is whirled in a horizontal plane by mess
of a string with an initial speed of © rpm. T
tension in the string is T. If speed becomes 10
while keeping the same radius, the tension inte
string becomes :

T
1) 47 L
( (2) !
(3) ar (9 T
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24 Match List-1 with List-11, 28  Ina vernier calipers (N + | ) divisions of vernier
Lisi-| List-11 scale coincide with ¥ divisions of main scale. 17
(Material) (Susceptibility (7)) | MSD II'EI‘Ht'iﬂll"i 0.1 mm, the vernier consiant
| : y {inem)is:
A, Dumlgnﬂm I =0
- ; i
B, Ferrmm,gm.uc . 05 g2 : (n m (1) 100N
C. Pammagnetic M. xss1
. ]
D. Non-magnetic IV. 0<% <€ (asmall (3) 10(N+1) (4) ToN
o . posilive number) |
hoose the correct answer fi i i
below: S fetoul phen i x )
(1} A-IL, B-1, C-111, DV 29 "‘Ffs'“["”;Jﬂ represents the motion of a
(2) A-I, B-II, C-1. DIV particle cxecuting simple harmonic motion, the
(3) AV, B-lN, C-11, D1 amplitude and time period of motion, respectively,
(4) A-IL B-IIL C-1V. Dl arc :
F (1) 5m,2s (2} Sem, 1s
25 lnuufnllmuing:irmh,ﬂwequi\ralcntmim (3) 5mls (4) 5cm 25
between terminal A and terminal & i -
20F 2uF ;
—i— 0 - =1 et
A o— =3 uF — ,&Hp §I'_—}
_;Lr :',I._r_ | Ip
Solenoid - 1 Salenoid -2
(1) 1pF (2) 05uF o s above di B
€ above diagram, a stro magnet i
(3) 4pF (4) 2pF mvingtﬂnudsmlpoﬂlﬁu:ng&ahmﬁ-il;
direction of induced current in solenoid-1 and that
26  Ahorizontal force 10 ¥ is applied to a block A4 as in solenoid-2. respectively, are through the
shown in figure. The mass of blocks A and & are directions:
2 kgand 3 kg. respectively. The blocks slide over (1) Bdand CD (2) ABand CD
a frictionless surface, The force exerted by block
A onblock Bis o Gl-AMedDec ) Admipe
. - 3 I'lhﬂk‘ﬂ‘ - -
F=10N F n ; ircuit provides the output ¥ as per the
ey I-L 3 kg following truth table :
(1) 4N {2) 6N A|B|Y
(3) ]eiil'-i'\"wﬁ,h ,2{4]' Iﬂg PUTE ojon |
né‘a’ ¥ f;l o1 e
R N —‘+Lr gl & JC e
In the nuclear emission stated above, the mass

number and atomic number of the product O The expression fox the output Yis ;

respectively, are: Y 4Basd ~

(1) 286,80 (2) 288,82 ~B52 @ B

(3) 286,81 (4) 280,81 (3) B @ anis
R1_English | 5
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Physics : Section-B (0},
s CATETTY T

The minimum energy required 1o launch
of mass m from the surface of carth 'ur. watelfi,

mwlﬁﬂmltrmhmum.hmﬂ

2nfmﬂmmmgm¢wﬂm

2GmM i Cim\f

M Sk oD Sp
-

GmAf o SGmMr

() 3z Y Tex
Tg]

Amtlmhwnp:humobjmhwoffnmh,ﬁ
140 cm and an cye picce of focal length 5.0 cm
The magnifying ﬂflﬂmo,tfnrvi:wir‘
a distant object is

(1) 28 32: 17 \
(3) 32 (4) 34
o

The velocity (v) — tibde (1) plot of the motion of 3

OVERSEAS Set R1
I
]
s
32 A wire of length *f* and resistance Iﬂﬂ‘:-:'
divided into 10 equal parns. The rrsi:‘ Pﬂ:s are
commected in series while the next p:ﬂlﬂ.'
connected in parallel. Thegwo combies of this
again connected in seriesg-The resisiance
final combination is:  ©OY
-
1y s 550
(1 520 @)=
(3) 6002 (2602
un
13 Thcnmpuu}’]oflhgimmwhﬂm'm 37
to the output of an/a :
A—]
B
o ;
(1) NOR gate (ZLNOR gate i

34  Athinspherical shellisc

35

(3) AND gate (4) NAND gate

by some source.
The potential difference between l!_u: two points
C and P (in V) shown in figure is:

=9x10° s@iu}

|
{Take P

LT ] Ty
'q
—
o)
s > Qo
g=1pC g
(1) 1%10° @fosx 100
(3) zerc (4) 3x10°

The massof a planet is ]TEP““I of the earth and

its diameter is half t of the earth. The
acceleration due to gravity on that planet is :

‘I] 08m 5-_2 {% ‘_erz
(3) 3.92ms? (45) 19.6 ms2

-

body is shown below :
T

“pv(m

O —

The acceleration (aygnmgmphuuhmm
this motion is :

(n l‘z = ,_1{2} ‘I_[ o
J,
E
-]-l—_—ﬁtun @ =

+afmrT)

ing of 1 kW
39 Two heaters A and Bfhave power raling b

and 2 kW, respmqq:ly Thm:twolﬂ
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A force defined by F = g2 + [ acts on a particle

at a given time 1. The factor which is
dimensionless, if @ and I} are constants, is:

m Y% @) apr

(3 “j% (4) ﬂ:,';'

A 10 uF capacitor is connected 102 210 V. 50 Hz
jsource as shown in figure. The peak current in

the circuit is nearly (z=3.14):

e

C= 10 uF

)
o/
210 ¥,50 Hz

-~

.:zj L_z:u
(4) 0584

(1) 0934
(3) 0354

A metallic bar of 1'!|"'|.'-|J|r||g\'s modulus,
0.5 = 10" N m~2 and zoefficient of lincar thermal
expansion 10~3°C-, length | m and arca of
cross-section 103 m2is heated from 0°C to 100°C
without expansion or bending. The compressive
force developed in it is:

11y 50=<108N (2) 100= 108N

(3) 2=10°N (4) 5=10°N

A parallel plate capacitor is charged by connecting
it to a battery through  resistor. If L is the current
in the circuit, then in the gap between the plates :
(1) displacement current of magnitude equal to
I flows in the same direction as 1.
displacement cument of magnitude equal to
I flows in a direction opposite 1o that of L.
displacement current of magnitude greater
than | flows but can be in any direction.
there is no current.

(2)

(3)

(4)

Rl__EngJishI |
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Choase the correct circuil which can achicve the
bridge balance.

g5 A sheet is placed on a horizontal surface in fromt

of a strong magnetic pole. A force is needed to
A. hold the sheet there if it is magnetic.

B. hold the sheet there if it is non-magnetic.
C. move the sheet away from the pole with
uniform velocity ifit is conducting.

move the sheet away from the pole with
uniform velocity if it is both, non-conducting
and non-polar.

Choose the correct statement(s) from the options
given below:

(1) AandC only”

(2) A.CandD only

(3) Conly

(4) Band D only

D.

Ifthe plates of a parallel plate capacitor connected
oa are moved close to each other. then

A.  the charge stored in it, increasey.

B. the energy stored in it, decreases.

C. its capacitance increases’

D. the ratio of ¢ to its tial i
o ' harge to its potential remains

E.  the product of charge and voltage increases.

Choose the most appropriate answer from the
plions given below:

(n *nclnd[':unly
(2) B, D and E only
(3) ﬁ.BI‘.I'IdCﬂnly
(4) A.Band E only

| Contd...
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The following mplmwf:': and ¥
is |

an ideal gas (where T P and Py
the volume) at three pressur®d F"ML#HW’
compared with those of M’;hw

as dotted lines.

47

A

5000

V=
Then the correct relation is: <

M A>n>n @ FRlAB
) A>m>R @ Ak
Q

The property which is not of dwkclectromagnetic

wave travelling in free space e

(n Immwdtmilyhﬂuuicﬂﬂd"ﬂ‘“l
%o energy density in magnetic field.,

< I
(2) mmwlum:wgdu Tt -
(3) they originate from cr? moving with
uniform speed.
(4) lhcy-reminn:f_f.

An iron bar of length L has magnetic moment M.
It is bent at the middle of its such that the
two arms make an angle 602 each other The
magnetic moment of this is:

@) zg
o

M)

@ =
M

® F

If the mass of the bob in a simple pendulum is

?mruudtn!hriﬂ::hmﬁ;imlmwiulmph

is made half its ofiginal length, then the new time
: e -

period of oscillation is 7 1imes its original time

period. Then the value of x it~

(i 2

(3) 4

R1_English |
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Chemistry : Section-A (Q. No, 5%
The reagents with which glucose does noy

to give the corresponding tests/products ..:q"
A. Tollen’s reagent
Schifl"s reagent
HCN -
NH,OH €
NaHSOy C
Choase the correct optidas from the given beigy,

B
C
D.
E

(1) AandD (2) BandE
(3) Eand D (4) BandC
7

The energy of an electfén in the ground s,
(n = 1) for He" ion is -x that for an electree,
in n = 2 state for Be>* fort in J is :
M -3 -

4
@) -3x (4) -x

<

Which reaction is NOT ¥ redox reaction?
(1) 2KCIO;+1, - ZKIO, +Cl,

(2) Hy+Cly—>2

(3) BaCl, + Na;SO, £ BaSO, +2 Na€l
(4) Zn+CuSO, —» ZuSO,+Cu

Match List | with List I1.

List 1 : List 11
(Process) (7,(Conditions)
A. lsothermal L. _yNo beat exchange

process (]
B. lIsochoric ﬁmmu
process temperafure
C. lsobaric L. Carried out at
process _constant volume
D. Adiabatic IV Carried out at
process = constant presserc

Choose the correct ansir from the options pyves
below: -’

(1) A1V, B-IL, C-lIL B
(2) A-l, B-lL, C-111, DafV
(3) AdLBJILCOV.DD
(4) A-IV, B-lIL, C-11, D-1 i

' | Contd-
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[dentify the cormect reagents that would bring

g5  Forthereaction 24w, c, K. =4x107" Ata 50 about the following transformation.
gwcn time, the composition of reaction mixture O_ CHy - CH=CH; -
t [Al=[B]=[C]=2x10M _V,Q_{'u,- CHy - CHO
T'I‘il’:l'hRWhlt!h Bfﬁ following is correct? H :
(1) Reaction a tende . ’
direction, )1 ney to go in forward (1) (i) &H.‘
e o
(2) :ﬁ:ﬁ hga tendency to go in backward (ii) gzﬂz / OH
Gt ii) (PCC
3) Reaction T ‘!"}ﬂ -
(3) S ne to completion in forward @) () LBH;
R =)
(4) Reaction is at equilibrium. (i) H;”z/ -
‘ : £ (iii) ﬁ‘ KMnO,
56  Match List I with®List 1. ] @
List I (Complex)) List IT (Type of () 91,0 .
-] isomerism) @ (i) HOH
[
A [Cn(HHz,}s (Nog]ﬂl I. Solvate @ M, 0H"
0 - . (i) 1603
isomerism sl
. 59 Match List ] with List 1L &/
B. [Co(NH,), (s0,)|Br Il Linkage Sy List I (Remgents
4 isomerism < 0
=~ il 2 L 1 @J'\CU
C. [Cn[NHﬂﬁ] [qn{cr-l]‘] I1l. lonization A Oa(%-’:{{:}:u .
=~ N\ s Anhyd AICl
3 ,-" H'-L IS0MErism _
D. [Eu[HID}ﬁ]CIi-%/ “IV. Coordination 5 @_.%L@ Al CrO;
ISOmerism O o
s . KMnOy/
correct answer from the options given o L= i
E:":T the R o KOH, A
(1) A-L B, GiIV, D‘E - @fm“FHI V. (i) O
@) AL B-IV, Glll, D- ' €aoK o
(3) AL B-IV, - (i) Zo-H,0
4) ﬁ.."h"l:, B-111,G-1V. erﬁmmmw
s . I:cluw
§7  In which of the-following processes SHTTOPY. ﬁ-l C-II, DAV
increascs? t2} ﬁ‘: B- lj gf::: g,ilﬂl;
tes to (3) A- =
et e |8 SRR
" from 130K to 0 K. L H.O. | 60  Inwhich 8Fthe following equilibria. Ky a2d Be
C. 2 NaHCO3q) 0> NazCOxsy ™ COun ™ 1270 are NOT gonl? =
D. Clygy—2 Y Jptions given (0 Tyl = 2y
Choose the co answer from the (2) CO Hzﬂm 7 c{éllm 2g)
3) 2B = Bryy T Llxg
below: : D ( ] 2ig)
(1) ABandDZ @ :ﬁd‘g’ @ reigf= ! PClyy+ Clagg
(3) CandD (4 [ Contd-—
) 9
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Gl Which one of the following ﬂ:;hﬂ
instantaneously with Lucas red

(1) CH,-CH,-CH-UH
CH,
(2) CH,- CH-CH,OH
CH,

CH,
|

(3) on,- :l, - OH-
CH,

L]
*

(4) CH,-CH,-CH,-CH,OH

62  Given below are two statements:
Statement | : The boiling point of three
pentanes follows the order
n-pentane > isopentanc =
Statement 11 : When = t:z
molecule attains a shape of sphere. This resu
in smaller surface area for contast, due to which
the intermolecular forces between Wl
molecules are weak, thereby lowering the boiling
point. .
In the Iig,htufﬂw;hwummmu.flmiﬁﬂﬁ
maost appropriate answer from the options given

isomeric

tanc

below:

(1) Both Statement I and Statement 1l are
incormect.

(2) Statement | is correct but Statement Il is
incorrect.

(3) Statement | is incorrect but Statement Ilis
correct.

(4) Both Statement]and Statement [l are correct.

63  Given below are two statements:

Statement I : Aniline does not undergo Friedel-

Crafis alkylation reaction.

Statement L : Aniline cannot be prepared through

Gabriel synthesis

In the light of the above statements, choose the

correct answer from the options given below:

(1) Both Statement | and Statement 11 are false.

{2) Statement I is correct but Statememt 11 is
false.

(3) Statement [ is incorrect but Statement 11 is
true.

(4) Both Statement | and Statement 11 are true.

R1_English |
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64  The E° value for the Mn""/Mn2* couple i
positive than that of Cr**/Crl* or Fed*/pa
to change of
(17 o o d? configuration
(2) d*10d® configuration
(3) d° 1o d® configuration
(4) d* 1o d* configuration

thag

On heating, some solid substances change fryy,
solid to vapour state without passing th
liguid state. The technique used for g,
purification of such solid substances based o th,
above principle is known as .
(1) Sublimation

(2) Distillation

(3) Chromatography

(4) Crystallization

Fehling's solution ‘A’ is

(1) alkaline copper sulphate a

(2) alkaline solution of sodium potassium
tartrate (Rochelle’s salt)

(3) aqueous sodium citrate

(4) aqueous copper sulphate

Match List I with List [1.
List I
(Molecule)

67

List I1
(Number and types of
bond/s between two
carbon atoms)

;

one g-bond and
two w-bonds
two_g-bonds

. one g-bond

A. ecthane

B. ethene

C. carbon .
molecule, C;

D. ethyne £ V. one o-bondand

one w-bond

Choose the correct answer from the options Ve

below:

(1) A-IV, B-IIL C-11, D-1 i

(2) AL BV CleD1

() A-ILBAV,CL DT o

(4) A-L B-IV, C-I, D-I

il #1
ntd-
10 | Co
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68 Inmmolecular hydrogen bonding i i «§pin only” magneti i .
N% E 15 present in T2 3[:;‘: ftﬂiﬂﬁing m‘:ﬂm 15 same for which
m@‘ AT s B 2
@) Q’ Q
HO g
(3) HF )
o QLY
: ] hmwmﬂﬂthlmhmhrmhufc
69 The highest numbefdf helium i hll; WO e s IUPAC name is:
(1) 4uof helium© :;, 2,3-diméibylbutane
(2) Jsﬁrhliumg E;; 2 2-dimefhyibutane
(3) 2271098 L of Belium at STP Lﬂ:
sGm | 74 The Henry's law constamt (K f three
3 ‘!_nmlul'hﬁ@ gases (A, B, C}muﬂuml ;?[;s
Jikh'mpuctnﬂy.ﬂtmhhlrg gmh
70 Match List | with LW 11 in water fol order:
List I i (1) B>C> (2) A>C>B
(o)) List 1l (G) A>B>§, (4 B>A>C
(Conversion) o (Number of
& 75 lhlwll'l um@ﬂm
Faraday required) -ﬂ.uu:
A-: Yimol of 13,0 to L. 3F
i o 0% o
: fr.'-‘h .--:-'-.
c. IF @h, =¥‘-f
7% shlﬂﬂrhucum
D. 1 molof FeO to IV. SF }:‘l"‘?".ﬂg among the
Choose the correct giiswer from the options given ?HJ
below: o g\ 12
(1) AL BV, CH)D-1I M cu” BNy 1
(2) A-lI, B-1L, C-I, D-IV ? - s ‘_l
(3) A-ILBH, CIL DI @) i;i: :: "
& = —
(4) A-ILB-IV, C-LD-1I ;CHJ 29 ke
(9] (3) (s )
71 Anm;ﬁwwpiﬁeﬂﬂuwﬁdlmmmr o
dmw—!nmdl:mnga? g ‘j::!
(1) Se (2) Te @ ye
(3) Po ) 4y O 7 g Nen,
- c
R1_English | = o [ Contd-.
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following elements in § .
e ’ ) 80  Arrange the NCreng;
Livven below are 1wo siafemenis arder of first ionization enthalpy: g
3
14 o
Statement | : Both [f'ﬂ[h’lh}ﬁj ind E""r*‘] Li. Be. B, C. N
in their

complexes are octahedral but differ

' nswer from th i ’
magnetic behaviour. Choose the correct a © options giye,

below:
Stat ; ' 4s diamagnetic
- cmeni 11 : [{'“[NH-‘LJ 15 (n ]_iﬂBﬁEE‘:C{N
whereas [E“‘"}.]L is paramagnetic. (2) LicBe<C<B<N
In the light of the above statements, choose the (3) Li<Be<N<B=<C

correct answer from the options given below:
(1) Both Statement | and Statement Il are false.
(2) Statement I is true but Statement 11 is false.
(3) Statement | is false but Statement Il is truc. : iod A = _
1 Activation energy of any chemical reaction oy
(4) Both Stat t | and Statement |1 are true.
S = be calculated if one knows the value of

(4) Li<Be<B<C<N

78 1 gram of sodium hydroxide was treated with (1) probability of collision.
25 mL of 0.75 M HC1 solution, the mass of sodium
hydroxide left unreacted is equal 1o

(1} 250 mg {(2) Feromg
(3) 200mg (4) 750 mg (3) rate constant at two different temperatures,

(2) orientation of reactant molecules during

collision.

4) mate constant at standard temperature.
79  Given below are Two statements; )

Statement [ : The boiling point of hydrides of
Group 16 elements follow the order

82  Arrange the following clements in increasing

order of electronegativity:
Statement Ll : On the basis of molecular mass, v
H,0) is expected to have lower boiling point than MNoOVE C S
the other members of the group but due 1o the
presence of extensive H-bonding in H,0, it has Choose the correct answer from the options given
higher boiliag point. . R
In the light of the above statements, choose the
correct answer from the options given below: (1 SE.{C{Q{E’ <F
(1) Both Statement I and Statement 1 are false, (2) O<F<N<C<S;

(2) Statement | is true but Statement 11 is false,
(3) Statement | is false but Statement 11 is trye. (3) F<O<N<C<Si

(4) Both Statement | and Statement 11 are 1rye. (4) Si<C<N<Q<E

R1_English | 12 | Contd..
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[ Chemistry  Section-B (Q. No. 86 1o i06) |

Match List | with List [,

List 1 List 11 t
Quantum Number Information provided
A m I shape of orbital
B om, iz size of orhital
c. | L. oriemation of
orbital
D n V. orientation of spin
ol electron

Choose the correct answer from l]ll:np'lm; given

below;

(1) A-lll, B-IV, C. D-11
2) AL B-1V, Ce1, DA
(3) Al Bl C-l\f DA
(4) A-L B-l, C-11, I.':n—l\vJ

84  Match List 1 with List 1,

List 1 List 11
(Compound) (Shape/geometry)
A. NHy— — 1. Trigonal Pyramidal
B. BrF,><:I’, Square Planar ‘
C. XeF,- Il. Octahedral é
D. SFg V. Square Pyramidal
Choose the correct answer from the options given
below:
(1) A-l, B-1V, C-1IL, D1 flf_

{2} AL B-1V, C-, D-N1
(3} A-lL B-I, C-IV, D-1

) A mw@,n-m

Arrhenius equation?

Ink-—+

(1) (2)

Ink=

{3) 4)

R1_English |

UAE | Qatar |

Which plot of In k vs :}:

i% consistent with

8

| bk
e
4

13

ihe work done during reversible isothermal
L‘I.I,'Ilniﬂﬂ'l of one mole of hydr gl 29
from pressure of 20 atmosphere 1o 10

1% smm’t
(Given R = 2.0 cal K- mol")
i1 _ 413.14 calories

(2) 413.14 calorics

(3) 100 calories

(4) 0 ealone

Identify the correct answer.

(1) BF; has semzero dipole moment., ¢

(2) Dipole moment of NF; is greater than thatv”
of NH;.

I'hree canonical forms can be drawn for
CO3” ion

Three resonance SIrUCures can be drawn for
OTONE.

)

g

4)

Major products A and B formed in the following
reaction sequence, arc

wy www.allenoverseas.com

A
4 . i

Saudi Arabia

q]fj@. st
(major)
Br
H
° 0 0
OH OH
Br H
daeatae
OH 0
H
gasE e
H.C e
o
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y 1y are diamagnetic F During the preparation of Mohr’'s salt soly;
89 The pair of lanthanoid jons which (Ferrous ammonium sulphate), which l:ll'.:‘
is following acilllls added to prevent hydrolysis
(1) Ce’* and Evy Fel ion? 4 N
(2) Gd** and Ewi¥ (1) concenthiled sulphuric acid
(3) Pm* and Soi ; :
H.I ct“.ﬂ‘rhb {1} dl[‘l.lul'l‘ acid
) 20% of B and (3) dilute ric acid
%9,/ Acompound X cogpins 32%0f A T L (4) dilute b loric acig”
© remaining percenta@e of C. Then.
formula of Xis : _p=40;C=32u) p Identify the major product C formed in
(Given mknuﬁwfﬁ “:;1(_ ' L following sequence :
(1) ABC, (2) 2 — : o
(JF 2o e
®) ABC, &) ABC; CH,-CH, -ON, -1, ™~ " L,
91 Ghmhm-m%inwm-”‘?'ﬁiw;t ﬂ“_g g
qualitative amlys arrange them 1 INCTCas b g NaOH c
group number L-:'lmwrcu!' EE%""_* . ( major )
A AP B. =
C. Bal* D. 'l:ﬂ"“ (1) IN.II}’II'I‘II:IE
E. ME}-& ; {1]' butanamide
Choase the comectagswer from the options given (3) - bromgbutanoic actd
below: (4) propylamibe
{1) B.C.A,D, o
& EABCED 94/ Mass in grashof copper deposited by passing
:4; BA.D'C.% 9.6487 A through a voltmeter containing
s e wn'mm‘ Ifﬂ Immldih
92 Consider the folloWihg reaction ina sealed vessel (Given : of Cu: 63 gmol",
at equilibrium with concentrations of M0 W
N, =3.0 1073 M, 0, =42 x 107 M and (1) 0315g (@) 315g ., {_E-r
NO=2.8 x 10 My G) 003158y (4 Risg N
2NO, w2 N, ) ~ 'S
(s) 2(z)’ " Ax) : :
For the givenJaction:
I£0.1 mol L1 is taken in a chosed vessel, koot
: . - I
what will be degreegf dissociation (a) of NO, O‘E L £ {TI
at equilibrium? O product)
(1) 0.0889 U (2) 0.8889 ‘Pis
3 07 4) 0.0088%
(3) (4) M O_ .
ﬁ The rate of a (gaction quadruples when Oty OH
temperature chafges from 27°C to 57°C. | I
Calculate the enery of activation. ) O—"%CH—C}
Given R=8.314 'mn'l",lo!.l-uml oo
(1} 3804 klJ
(2) 3.80 kifmol (3) C}_M—O
(3) 3804 Ki/mol o
(4) 38.04 Kl/mol") @ ()-afio
R1_English | 14 | Contd-
|
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~onay  BeelonA [0 N T =
fy SESTSE—— AT A i
Statement 1 : [E‘u[NH ) ]M RRR BRCO S R St s auxin
3l is @ homoleptic (1) promotes abscission of mature leaves onty
(2) does not affect mature monocotyleder
complex whereas [C‘:'{NH” cl ]4 o plants. lﬁj'n?“‘
42 a
heteroleptic compley, w_,—-' (3) can help in cell :Ii\-_'fiiqp__ip_jrusu, o
produce growth. ==
Statement 11 : Complex | ¢ ‘ (4) promotes apical dominance.
[ E(HHSL]J has only i
one kind of ligands [ i 102  Lecithing a small molecular weight organic
gands but Cu(NH ].E':] has compound found in living tissues, is an example
more than one Kind of ligands, of:
In the light of the above Statements, chogse (1) Phospholipids
correct answer from the options given hhw_'h“ (2) Glycerides.

(2) Statement I is true byt i m“L (4) Amino acids ,

(3) Statement | is false but Statement Il is trye. | 103  Match List | with List Il

(4) Hﬂhﬂlﬂ!ﬂn”ﬂl&dsmmuntl]mwt_ List 1 List 11
A T'f_m OF more L Back cross
99 Thplc:tlofnmmﬁnm{n}mmmmﬁm SRERMVS /
(mol L™") for a solution gives a straight line with forms "[‘_'W. /
slope 23.73 L bar mol~!. The temperature at which B. Crossof F, I.  Ploidy
the osmolic pressure measurement is done is: Pmsmr;'iﬂ'l i/
(Use R = 0.083 L bar mol- K1) hmmq-gﬁus /
(1) 310°C @ 25.73% Xovessive pireut. /X
(3) 12.05°C (4) 37°C G Crossofy, NJfy WAl
H"_T progeny with
. any of the parents
(B0 The products A and B obtained in the following D. Numberof
reactions, respectively. arg e S S
H 5t53 ) -
}lf{}H+_Eg'§3-—rjﬂﬂ+A , sets in plant
ROH + PCIg—+RCl + HCI + B £9°4 Choose the correct answer from the options given

below:

(1) AL B, Can1, Dy
() AL, BV, .1, Doy

(2) HyPO, and POCI,

(%) (H5PO3nd POCI; () AV, B, Cap1, o
(4} POCI; and H3PO; (4) A-L B, ¢, pav
RI_English | 15 | Contd...
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Identify the set of correct statements:
A The flowers of Hallisneria are @
produce nectar,

The Nowers gl waterlily
by water. [ f
C. In most of ﬂj;tﬁpnilinlttd ’pﬂlc.!' o
pollen grainsate protected from “ﬂml
Pollen grain 'ﬁ'm hydrophyies are long
and ribbon like. . |

In some hydrophytes, the pollen Brains 7€
carried p.niwy inside wafer. + _
Choose the correctagswer from the options BVER
below: (83

(1) A, B,C and Dlonly

(2) A.C.Dand Eonly

(3) B.C,Dand ﬁ.niy
(4) C.Dand Eonly

kmrﬁ.lllﬂd
n re ot pnllinlll.'d
.

E.

List of endangered$pecies was relcased by-
am wwe "' @ roam ~
@) ICN 5 (4) GEAC (g_)

o
What is the fate of @piece of DNA carrying only
gene o interest which is transferred into an alicn
organism?

108
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107 Which of the following are required f“""ld.i

reaction of photosynthesis?

A. Light

B, Chlorophyll

C. COy

D. ATW ~
E. NADPH —

Choose the correct answer from the m"g‘
below:

(1) B, Cand D only g
(2) C,Dand Eonly_/ V-
(3) Dand E only

(4) A, Band C only ”

of conservation in which the
E;?m taken out from their I'III::IF
und placed in ial setting where they 'sah be
apd given special care is called!D
(n Hindivm'gymurvuim
(2) Semi-conservative method 1y
(3) Sustainable development
(4) in-situ conservation
b
Given below are two statements: ™~
Statement I : Bt toxins are insect
and coded by a gene cry 1Ac.

Statement II : Bt toxin exists as inacti
protoxin in B. thuringiensis. How
ingestion by the insect the inactive

orm_due to_acidic pH o

A. The piece of DNA would be able to multiply
itself i in the progeny cells of converted into active f of
the organi the insect gut.
B. It may get integrated into the genome of the In the light of the above statements, the
recipients) correct answer from the options given
0 llmymuld?;rﬂb:hhﬂimdllm*ilh (1) Both Statement I and Statement 11
the host DN (2) Statement | is true but Statement 1l
D. Ihaiienpimeol'ﬂﬂhjinumhuw (3) Statement | is false but Statement Il jsgrue
part of chromosome. (4) Both Statement | and Statement |1 angirue
E. It shows ability to replicate/ e
Choose the correcf Ehswer from the options given | 110 A transcription unit in DNA is defined primarily
below: oy by the three regions in DNA and these are with
(1) RandE uiﬁ rtq:ectl m*-“mmj_ udduwnm-ﬂ:q
@ Bdemi;E;. 11} ISIﬂIﬂurl gene, Transposons, Operatge geoe
3 A onhif) (2) Inducer, Repressor, _ : pnlg\
@) AsadB ool (3)  Promotor, Structural gene, Terminat@
¥ (4) Rrplﬁsor.opﬂ‘lmrm.'&:mngﬂ
R1_English | 16 il | Contd-
N
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in the given figure, which componem has
outer walls and highly thickened inner wlls!!hi“

h
(1 D (2) Ay
(3) B (4) CO

o
|ﬂmmmbﬂhm&mﬁﬂtwﬁmm
point called recognition sequence and it consists
of < ==
(1 (2) 4bp
(3) 10bp (4) 8bp

|:_"':'|

Identify the type of lhmh%mﬂ:_m
of %mm i

! ta
the ovary from the given ﬁ@;ﬂuﬂ{b}

=
(1) (a) Hypogynous; (b) Epigynous
(2) (a) Perigynous; (b) Epigynous
(3) (a) Perigvnous; (b) Perigynous
(4) (a) Epigynous: (b) Hypogynous

v

Which of the following i€'an example of
acti ic flower? (]

(1) Cassia (2) Pisum
(3) Sesbania (4) D@m

Which one of the following is not a criterion for
classification of furgi?

(1) Mode of nutrition 1
(2) Mode of spore funnaﬁnlg
{3) Fruiting body e
(4) Morphology of mycelium,

~ ALLEN NEET (UG) 2024

Set R1

116

n7

119

I'h_tequﬂﬂ"ﬂﬂ of Verhulst-Pearl logistic growth is
| k=N

':'; - r.'ﬁ[ I 1

From this equation, K indicates:

n Biotic pd-l.'nﬁ'llT/.

(2) Carrying capacilyey

(3) qull"l:lﬂ density.|

(4) Intrinsic rate ufﬂgul increase

Which one of the follofiing can be explained on

the basis of Mendel’s Eatv of Dominance?.

A. Out of one pair one is dominang
and the other is recessive. v

B. Allelesdo not showgny expression and both
the characters ﬁlll as such in Fy
Ecm:rnt' Wty

¢.) Factors occur i.@.ir.—. in normal diploid

D. 'I:ﬂ'lwgﬁ.lsercte uniganirﬂ_"j.lmﬂar
character is calledfictor, «"

E. The expression ofonly one of the parcntal
characters is found in a monohybrid cros3d

Choose the correct answer from the options given

below: =3 L]

(1) A@Dand-E nnl?;{

(2) B,Gand Donly g,
3) ﬁ“ﬂeg
@ only =

M;:nhLi:tlwiﬂ-LinE
List1
Rhizopus

Puccinia’

List I1
Mushroom
Smut fungus
Bread mould
: Rust fungus
below: T
(1) A-L B-IIL C-II,

(2) A-llL, B-11, C-1,

(3) A-IV, B-lI, C-I

(4) Aﬂm B-I1, C-IV;

Inhibition of Succinic rogenase
malonate is a cm%:
(1) Feedback inhibitipn|

(2) Competitive inhilsition
(3) Enzyme activation )
(4) Cofactor inhibition’

L
I

onNw>

enzyme by

(o= o
R1_English | L) 17 un | Contd...
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fully | 125 The capacity 10 generate s whole
120  Formation of interfascicy hﬁ""ﬂrw cell of the plant is called Plant fro,
dnmpdp.mhyrr-n"!“" (1) Micropropagation
{l;: L”.f;..-.m'"" "t‘ (3) Somatic hybridization
(4)  Differentiation (4) Totipotency
.
‘ﬁﬂﬂiﬁ’
121 Ap&ﬂww#" 126 Trovical :
with a red flowered -#M because ‘mmﬁm
of phenoty iv/are expected 0 lmEﬂ
(n Mg;ﬂnudllll" A. Tropical HMMMW
12) Only pink flowered plants olants undisturbed for milkions of years he.)
(}) Red, Pink as well as white flowered more fime was available for
(4) Only red flowered plants = fvﬂﬂm ———3pscin
: 2 ropical environments are more
122 Ina plant, black seed color (BB/BD) is dominant More solar energy is avai ol
over white seed color (bb). In to find out —hhh-'-m-f
the genotype of the mﬁi:h Constant environments promote Riche
of the following 2 cross it? specialization.
N @ (2) Bb (9 Tropical environments are constant
(3) BB/Bb (4) BB predictable. / —
Muwmmmmh
123  Match List | with List 1l below:
i ::ﬂ (1) AandBonly
o ,f,,,,,_ ' (2) A.BandE only
B. 1. Streptokinase (3) A,Band D only
rmrﬁhr (4) A.C DandE only
C. 1l Butyric acid =
D. Wm ‘\N Cyclosporin-A 127 Match List | with List 11
Choose the correct answer from the options given Listl List 11
below: A. Nucleolus Site of formation
(1)L A-ll B—I'V. C-l, D=1 of i
Aclll, B-1 C-IV, D-lI a . . CEpo
(3) Awm -1, D1l  Contricle 1. Organization like
(4) A-—lll B-1, C-lI, D-IV the cartwheel
ek C. Site for active
124 How::;.ymhuhofATPndNADHin rbosomal RNA
required for every mﬁkw X
Calvir cycle? D . me—_
(1) 2 molecules of ATP and 2 molecules of A . Nores
NADPH nutnents
) :mlﬂ of ATP and 3 molecules of Choase the correct answer from the options given
(3) ;:gph;uln of ATP and 2 molecules of (1) A-ll, B-lN, C-1, DIV
(2) B-1V. C-l
4) 2 lecules of
D ot . ATP and 3 molecules of (3) A-L B-IL, C-lIL, DIV
) (A B-1
HoEaghsb | 18 | Contd...
-
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38 Identify the pant of the .
1 which 15 destined ;::':rl‘mn the given figure | 132 Mmftprdﬂﬂ“mlkwullmnfhiﬂdiw' ¥
germinates, —— oot whey when the seed loss:
b A Overexploitation”
"~ 4
o B. Co-extinéfion”
O &
(] C. Mutation=
= itat 1oss and | oA
0 D. Habi Iﬂt}n ragmentalion
£ Mig
< Choose the cofréct option:
N B r~ L |
i ) C (1) A.B.CaDorly
| g‘) § (2) A.B only
spindle fibers ar ’
chromosomes d“ﬁl Eh to Kinetochares of (3) A,.B%mty
$51 Martpnae. "!,_rh] Snaphase (4) A.,CandJ3 only
(3) Telophases (4) Prophase \

130

131

Given below are twoSfatements:
Statement I : Chromasomes

visible under light ni€roscope duri
y ng leptotene

stage.

Statement I1 : The bégining of di .

complex. Ly

In the light of the above statements, choose the

comect answer from the options given below:

(1) Both Statement | and Statement I are false

(2) Statement | is € but Statemnent 11 is false

(3) Statement I is false but Statement I is true

(4) Both StatementBand Statement II are true
@

Given below are twaStatements:

Statement I : Paf@nchyma is living but

collenchyma is deaditi$sue.

Statement I1 : Gymnosperms lack xylem vessels

but presence of xylem vessels is the characteristic

ofangios

In the Tight of the above statements, choose the

correct answer from the options given below:

(1) Both d Statement I are false

(2) Statement | is the but Statement Il is false

{3) Statementl is but Statement 11

(4) Both Stammcntgrdwﬂml“mm

R1_English |

UAE

133

134

135

19

=f
The lactose present in the growth medium of

bacteria is transported to the cell by the action of:
) A—:ﬁylu%:
(2) Permeasé )
LT}
(3) Pﬂl}maml
(4) Beta-galactosidase
t_ll
: 4
Bulliform cellsre responsible for

)] I"Tﬂ he plant
(2) hﬂmﬁmw@nhﬁsmm
(3) Providing large spaces for storage of sugars.

(4) Inward curling of leaves in monocots.

& www.allenoverseas.com
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The
cofactor 6 enzyme carboxypeptidase i
() Niacin )  (2)_Flavin
-
G) Haem 1y (4) Zinc
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ol correct statements:

In the members of th_'l*'r_}f_'f.- asually bY
A.  Ascaual reproduction occurs -
biflagellate zoospores. hod
- mel
B.  Sexual reproduction -shot:e‘.'.!“”"
only.
C. Stored food is in the form nfﬂ-_’ﬁ;"" =
which is cither mannitol o lam! il
D. The major pigments found are ‘hl':" I
a, ¢ and carotenoids and :unﬂ'UF"J" > B
E. Vegetative cells have a cellulosic ¥

usually covered on the outside by gelatinous
coating of algin. :
Choose the iml'mﬂ from the options B1VET
below:

(1) B,C, D and E only

(2) A.C,Dand Eonly

(3) A, B,CandE only

(4) A.B,Cand D only

Match List I with List 11

List I List 11
A. Robent I, Species-Arca
/ relationship
B. Alexander von 1l. Longterm
Humboldt ccosystem .
experiment using
. out door plots
C. Paul Ehrlich 1. Global species
divegsity at about
7 million
D. David Tilman—""1V. Rivet popper
hypothesis.

Cbmseﬂwmmﬂmwrmuwonm;im

below:
(1) A-llL, B-1, C-1V, D-ll

() AL, Bl C-I1, DAY
() A-lIL, BV, G-I, D-I

(@) A-ll, BlC-L DIV

| Qatar | Saudi Arabia
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. T ] |
_-“n“.!.- :-,;irc“qn-_ﬂ_ [q: Hﬂ. 1-!‘ I‘! L ﬂ;‘ ot & Given Mlﬂw are two statements:
136  Read the following ““m"ﬂd;hﬂ“ Sintement 1 ¢ In C,y plants, some O, bind, o,

RuBisCO, hence COy fixation is decreased,
Statement 11210 Qﬂams.mmphﬂlp!h%
very litthe photorespiration “‘“km[‘ ey
cells do not show photorespiration.
In the light of the above statements, choose g,
correet answer from the options given below,
(1 Mhmmemlnﬂsmemu-“‘
(2) suumentl‘uuucmmmuhm.
) Statement | is false but Statement I is trye
‘81 Both Statement | and Statement Il are true

(39  The DNA present in chloroplast is:

141

(1 Circular, double stranded /
(2) Lincar. single stranded

(3) Circular, single stranded
(4) Linear, double stranded

MmmyﬂﬂﬂifﬂxNHPﬁumdﬁithy
{NPF)oI‘I"mttmpllic level is @, igb ;
lmx{kdm'zjjr",whllmldbeﬂwﬁﬂ
(Gross Primary Productivity) of the third

trophic Inrglgrmmeooﬁ@?_
(1) Skeal m )7 i)

lﬂx(kafn"])r" ¥ ] .

2)
100x b "B
(3) — (kealm }jrf 10
3x """'f.a
B (O
X ealm )y}
(4) m[hﬂm )y

Which of the following are F..:ud in somatic
hybridization involving two varicties of plants?
(1) Somatic embryos

& www.allenoverseas.com

(2) Protoplasts
(3) Pollens
(4) Callus |
]
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wfatch List | with List 11
I

/ L—-;"I-H; acid L. Cyvioplasm
e
1 Glycolysis 1L Mitochondrial
matrix
C. |:_|ﬁm::l L Intermembrane
tmnhpl, m{‘if
system mitochondria
D. Prﬂ'l'm'l “". I!I'IMI'
gradient mitochondrial
membrane

Choose the correct answer from the options given
below:

(1) AL B-L, C-IV, Dt

@) AL B-IV, C-1, D1

(3) A=V, B-11L, CA11, D4

(4) AL B-II, C-lL DIV

Aiutch List I with List II
List 1 List 11
A. Frederick L. Genetic code
Griffith
B. Francois Jacob . Semi-conservative
& Jacque mode of DNA
Monod replication
C. Har Gobind Ill. Transformation
Khorana
D. Meselson W. Lac operon
Stahl
Choose the comrect answer from the options given
belpw™ e
3 A, B-1V, C-1, D-lI
(2) A-IL, B-IL, C-1V, D1
(3) A-IV, B-1, C-11, D-lll
(4) A-II, B-1I, C-I, D-IV
44 Match List | with List 1I
List 1 List 11
(Types of Stamens)  (Example)
A. Monoadelphous 1. Citrus
B. Diadelphous II. Pea
C. Polyadelphous I Lily

D. Epiphyllous IV. China-rose 1
Choose the correct answer from the options given
below:

(1) A-1V, B-1, C-11, DI
(2) A-L B-11, C-1V, DIl
(3) A-lIL, B-L C-1V, DI
(4) A-1V, B-ll, C-1, DI

tl Fnolich 1

UAE | Qatar | Saudi

NEET (UG) 2024
Set R1

|ﬁ Identify the correcl description about the given
figure:

(1) Water pollinated ncmcrs_ showing stamens
with mucilaginous covering.
(2) Cleistogamous flowers showing autogamy.
(3) Compact inflorescence showing complete
autogamy. '
ﬁ]/ Wind pollinated plant inflorescence showing
flowers with well exposed stamens.

=

Match List I with List 1

List I1

Hormone

Enzyme
Interceliular
ground subsiance
Enables glucose
transport into cells
Choose the correct answer from the options given
below:

(1) A-lL B-l1, C-1I, D=1V

(2) A-IL, B-11I, C-IV, D-|

{3) A-lL B-1V, C-1, B-1I

(4) A-IV_ B, C-I, DI

Identify the step in tricarboxylic acid cycle, which
does not involve oxidation of substrate.

(1) Succinic acid — Malic acid

(2) Succinyl-CoA —» Seccinic acid

(3) lsocitrate —+ @ -ketoglutaric acid

{4) Malic acid — Oxaloacetic acid

147
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[ Zoology : Section-A (Q. No. 151 1o 185)
ith which of the | 151 Match List I with List 11 i
@H Spraving sugarcane crop W tﬁ increases the List 1 List 11
following plant growth regulators 1d? ; T Provides sigi
length of stem, thus, 1Hm1"9 ey e A. Pl — i,
for N
(1) Gibberellin Y, TSR
; o) O regulates postyr
{2) Cyokinip” ¢ 0 b
a ance.
(3) Abscisic acid g 53‘ i
lamus . ontrols
(4)  Auxin Ts| B. Hypotha S
respiration and
< gastric secretions
149 Match List | with Listl ~ ;
el C. Medulja_—@iil. Connects differen
SAER ot _ A L ) regions of the
A. Rose 1. Clwisted aestivat g o
B. P In. gmym"i T
D. Cerebellum LY. Neuro secretory
C. Cotton . Yibrupe === cells
inal placentation )
D. Mango V. Marginal p Th {] e from the options give
Choose the correct angyer from the options given below : <
b ™ (1) AL BV, CIlgD-
(1) A-lL Bl C-llI, %}V - 2) A-l B-111, C-Im-i‘v
(2) A-IV, BHIL C-1l 81 o)) Aff‘l:ln-l, .:,m.gm,
(3), A-IL B-IIL, c—w%r (@) AdLBIL C~i.li"iy
Jl( A-IL, B-IV, C-1, D-TII
152 Which of the following is not a component o
150, Which of the followilg statement is correct Fallopian tube? <
- regarding the process of replication in E coli? (1) Isthmus ™
(1) The DNA depﬁtnl RNA polymerase (2) Infundibulum =
i55" 3"
o3> < (4) Uterine fundg_m
(2) The DNA dupehgaent DNA polymerase
catalyses polymerization in 5° = 3" as well
33" —>5" direction. 153  The *Ti plasmid™ of Agrobacterium rumefocies
<! stands for <
@ The DNA dependent DNA polymerase | ‘ ]
catalyses polymepigation in 5* — 3° direction” (1) Tumor ""dq’"'ﬁt plasmid
(4) The DNA depéndent DNA polymerase (2) Tumor ixkicingpjasmid
catalyses polvmérization in one direction (3) Temperature in%mdﬂll plasmid
thatis 3" 5" 5 (4) Tumour inhibiting plasmid
R1 _English | 22 | Contd-
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satch List 1 with List g -

p quri:mm' : ::m n
A ENpHSK © Expiratory resen
capacity vohums v
volume +
_ lﬂipiﬂl{w}vm
¥ it s 2 volume
g. Functional’ i, Tidal volume
residual Expiratory :
C. Vital ﬂFlﬂK L Tidal volume +
Inspiratory reserve
D. Inspiratory | v, Ex ratory reserve
capacity volume + Residual
volume

155

156

A,
B.
C. Protease
D

ﬂ! - 3
Chumu:- correct answer from the options given
(1) A-lIL B-1L, C-1V. D]
(2) A-IL, B-1, GV, -l
(3) A<l B, C-11, D-IV
(4) A-IL, B-1V, C-1, DI

Given below are two statements : one is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : FSH acts upon ovarian follicles in

female and Leydig cells in male.

Reason R : Growing ovarian follicles secrete

estrogen in female while interstitial cells secrete

androgen in male human being,

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both A and R are true but R is NOT the
correct explanation of A.

(2) A istrue but R is false

(3) AisfalsebutRis

(4) Both A and R are true and R is the comrect
explanation of A.

Match List | with List Il :

List 1 List 11 s

. . Peptide
N ™ st

. Glycosidic bond
, IV. Phosphodiester bond
Choose the correct answer from the options given
below -
(1) AL, B-1l, C-1, D-IV
(2) A-JL BelV, C-1. RN
(3)  A-IV, B-1, C-111, D-1I
(4) A-IV, B-1l, C-11L, D-I

R1_English |

UAE

23

~ ALLEN NEET (UG) 2024

Set R1

IST  Given below are some stages of human evolution

Arrange them in correct sequence. (Past 10
Recent)

A, Homo habiliz”

B. Homo _n,piﬂ’ﬂ-/ '

C.  Homo neanderthalensis—

D. Homo erec

1 the correct sequence of human evolution
from the options given below :

(1) B-A-DC (2) C-B-D-A

o ADGE) @ DADH)

Which of the following are Autoimmune

E

Myasthenia gravis
id arthritis”

Mouscular dystrophy

(1) A,B&E only
@f B.C &E only
(3) C.D&E only
(4) A.B&Donly

159 Masch List I with List 11

List 1 List 11
A. Common Plaxmodium
B. Typhoid
C. Widal Rhinoviruses

D. Allergy___—— -IV. Dust mites

below -

(1) A-l,B- v
(2) = v/
(3) AV, B, C-11, D-I
(4) AL, B-IV, C-IIL D1

| Contd-..
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163  Match List | with List 1 :
160 Match List | with List 11 : ™ List 1 List 11
A k::nlm -1 (‘tﬂlﬁ“le (Sub Phases of (Specific
B. Canwheel™ .~ }i, Cilinand flagelle Prophase | characters)
pattern : | A. Diakinesis o I.  Synaplonemal
C. Cristy” ./~ . Chromosome : o complex formatioq
D. Satellite : Mnc'ﬂl““"d““s e B. Pachyteiie t—j"‘_n. Completion of
Choose the comect a from the 0ptioNs & = o terminalisation of
below : chiasmata
Ly
(1) AV, B-, -1l Chromosomes
(2) A“IIE'B-I"-" C-l, %‘L C. zﬂ"""‘i\ M
(3) Al B-1, C-1V, D-MIl l:a\ h
(4) A-lV, B-nI, C-ll, D-L bl N\,
— & D. Leptotent ~JV. Appearance of
161 March List [ with Listl: D recombination
List 1 List 1 nodules
A. Pleurobrachi mMollusca snswer from the options
B. Raduta-. Ctenophora ihlf ﬂ'lcmrest given
C. Stomocho . Osteichthyes v, DIl
D. Air bladder ' Hemichordata (n
Choose the comecta from the options given (2) C-1, D-111
below : (3) A.-I"u’ B‘III CAlI, D-1
(1) A-IeB-1, C-IV, D-II (4) A-IV. g@z, =M, D-1
(2) A- B-1¥, C-l,
(3) A-IV, B-Ill, C-IL IH 164 Match List I with List 11 :
(4) A-IV, B-1I, C-1IL.1D-1 List I
A. Down's syn
B. a-Thalasse
C. P -Thalassem
D. Klinefelter
syndrome

(1) (a)
(b)
ic)

(2) (a)

165

Chioose the correlft answer from the options given
below : =i

(1) A-ll, B-NITE-IV, D-1

(2) Al B-IV0C-L DA

(3) -ﬁ"ﬂ: B-150-11, D-111

(4) Al B-n*ﬁm. D-1V

Which of the following statements is incorrect?
(1) Most commonly used bio-resctors are of

(b) Involuntary - : ]mm:m stirring

(¢) Smooth - H (2) Bio-reactoes are used to produce small scale
(3) (a) Involuntary - Mose tip bacterial quitures. s -
(b) Skeletal - Bong (3) Bio-reactors have an agitator system,
(¢) Cardiec - Heart, an nx}'gﬂ@;lntrysysmumd foam control

{4) (a) Smooth- T system,
(b) Skeletal - (4) A bm—remur provides u-purn:i growth
(¢) Cardise- Hﬁ! : conditions for achieving the desired product
R1_English | 24 | Contd-..
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1 168 Civen below ulrlr.! twa siniements -
List List 11 _q'““-mtnl‘ 1 : The presence or absence of hymen
A, Prerophyilim I"::j-l Hag fish is not a relinble inﬂnwrufvirginit}-, s
R e el g e
i1 coitus only. -
e L Angel figly In the light of thE;!BWE statements, choose the
. Sxocoein IV Flying figh correct answer f Il'l:rndpgmm given below :
(hoose the comect BNsNET(; - (1) Both Statem tatement 1T are false
below : om the options Riven (2) Statement I but Statement 11 is false
3 5 (3) Statement I is false but Statement 11 is trye
() AL B, C.1, Doy {4) Both Statement I and Statement 11 are trye
(2} A-IV, B-L, C-11, Dy o 4
(3) AL, B-I1, C41, p W 169 Consider the following siatements :
(@) AL B-L, C-11j u& A. Annelids arcfrue coclomates.
t B. Poriferans argpseudocoelomates
- C. Aschelminth¢gare acoglomates
167 The following diagram showing restrici D. Platyhelmintfigs arc pseudococlunmics
in E.coli cloning vector RJE:. Find ;::‘u:ﬁﬂ: Choose the correctipswer from the options given
X" and *¥" genes - o0 below :
(1) Aonly (2) Conly
{(3) Donly 3 {4) Bonly
EcoR | = : i
Peu | 1 170 Given below are two stalements :
P B £ Statement I : In thepephron, the descending limb
o l of loop of Henle(ts impermeable to water and
L= permeab lectrolytes.
' Statement I1 : The proximal convoluted whule
W is lined by simple columnar brush border
epithelium and increases the surface area for
reabsorption. =g
<p In the light of therabove statements, choose the
= comrect answer frafiy the options given below :
(1) The gene ‘X" is responsible for controlling (1) Both Statemeéfit | and Statement 11 are false
the copy number afthe linked DNA and ‘¥ (2) Statement | Etrue but Statement 11 is false
fur'ﬂ"__m'_F 3 Hiation of (3) Statement 1 i§false but Statement Il is true
Plasmid. 7 s = (4) Both Statemedit | and Statement 1l are true
(2) The gene X’ h'ﬂr protein involved in | 171 Following are the stages of cell division -
replication of Plasmid and * ¥ for resistance A. Gap 2 phase
to antibiotics. B. Cytokinesis™ eR
(3) Gene “X" is respofisible for recognition sites E- iﬂfhﬁiﬁ Pgr ey
Rt 5 e » EQEEIIMS ] D
.n? ¥'is ﬂ:sm sible for antibiotic E. .Gap i phusﬂ
v o o ; Choase the corrdel'sequence of stages from the
(4) The gene ‘X" is r@nmhlafnrmpmlﬂm m options given below
antibiotics and ‘¥*for p@iaéj,imlvﬂ in (1} E-B-D-A.CH) (2) B-D-E-AC
the replication oii@ysmig. ' (3) ECADE () CEDAB
R1_English | 25 | Contd..
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ed h List | with List I :
172 1n both sexes of cockroach, 8 pair of joint e 176 Match List | wi
filamentous slrti.:tumscnllvcdl‘l‘lﬂl corci arc} List 1 List 11
bt A. MNon-medicated IUD Multiload 37+
(1) 10™ segment ;
(2) & and 9% segment B. Copper rele releasing IL / Pmm
(3) 1™ segment C. Hormone ne releasing IUF 1. Lippes oo,
(4) 5% seqmen D, implams IV LNG2g
173 Match List | with List 11 : Choose the correct answer from the options give,
List 1 Llﬂll:m below : > a
A. Fibrous joints ﬂ:‘bm ienitad (1) A-l, B-11L, C-IV, D-NI o
movement (2) A-IV,8-L C-I1 DI P d
B. Canilagino I Humerus and (3) AdIL, B, G-V, D11
jﬂi!.'llS Pﬂﬂﬂl‘ﬂl gll'dl'cq- o,
v, " rotational (4) A-IL B, C-E{P‘l:_i'j
/ movement
# b | - =
e % f:::::f:: 177 Which of the following is not a natural/traditiosa
ik movement contraceptive method?
D. Ball and IV. Knee, help in (1) Periodic abstinence
socket joims——— locomotion i
Chooge the correct aikmer ffom the options given {2) Lactational amenorrhea
below : . (3) Vaults
(1) Al ?d"'E'lL-D-'Lv (4) Coitus interruptus
(2) A-lI, B-1I, C-], DIV
(3) A-lL B-1,C-1V, D-ll
(4) A-IV, B-II, C-111, D1 Mﬁ/ Which one is the correct product of DNA
: > dependent RNA polymerase to the gives
174 Which of the following is not a steroid hormone’
template?
(1) Testostarone
(2) Progesterone 3 TACATOGEAAATATCEATTCAS®
(3). Calncagon (1)’S’ AUGUAAAGUUUAUAGGUAAGUS'
ol _
SR (2) § AUGHACCGUULAUAGGGAAGUS'
175 Following are the stages of pathway for (3) WTE&CCGTI'I'ATAGGTMGTS'
;::f'ﬂm" of an action potential through the (4) FAUGUACCGUUUA u&@@u&&ﬁlﬂ'
A. AV bundle
B. P:rﬁ:::: e 179 Which one of the following factors will not affec
C. AVn _ Rl
oL P ¥
). Bundle branches the Hardy : Emibﬂgﬂqulllbnmn
E. SAnode (1) Genetic drift
Choose the correct sequence of pmhwa;r from the (2) Gene migration
options given below :
(1) A-E-C-B-D (2) B-D-EC-A (3) Constant gene pool
(3) E-A-D-B-C (4) E-C-A-D-B (4) Genetic recombination
RI_EI'IEIHH ] 26 I c-ﬂ,,.
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sfateh List I with List 1) -
LA

List ! Listn
A Clocaine d Effective sedative i
/TS Surgery
A Heroi ; - Camnabis sative
¢. Momht - Ervhroxy i,
D Mariju - Pﬂ""“"'”‘-”mﬁnm
Choose llurcmﬂanmr from them,ﬁm

peiOW !

m Al B-l1, C-11, D.1v

(2) AL B-L G-, Dy

(3) AL B-TY, D-1L

)] ALY, B-11, 851, I}.H_,
o

W Match List Iwh@ﬂu .

2 |

=]

. Filariasi V. Bacteria
Chnnstﬂmoonﬁmnswerrm:muptmﬁm

bedow : S

(n B-111, -l{@
(2) A-IT, B-I,
(3) A-N, B-1V, C-111, D-1

4) A-lL B-llL, C-11, D-1V
S <

12 Match List | wiﬂaiist I:
List 1 o List 11

Cotton bollworm
. ADA deficiency
. Emphysema

. Com borer

Choose the correetianswer from the options given
below : (o)

(1) A-l1, B-1, Ca1I, D-IV
(2) A-l1, B-1VE@-1, D-1L~

() AL B-W_%. D-111
(4) A-lI, B-I, C-IV, D-I1
R1_Engligh |

Qatar | Saudi Arabia
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183

184

27
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Giiven below are iwo statements : one g I.h"ﬂd
as Assertion A and the ather is labelled 5
Reason R : :

Assertion A : Breast-feeding during initial perioq
of infant growth d&recommended by doctors for
bringing a hﬂlﬂg'h‘}'

Reason R : Cologirym contains sevem| antibodies
absolutely essential to ﬂ_ﬂ":@ resistance for the
new born baby, .

In the light of tlu‘?'rbwc statements, choose the
most appropriatgapswer from the options given
below ; o

(n Bmhguugtmmrmﬂbul K is NOT the
correct explfjation of A.

(2) A iscorrect but R is not correct.
(3) A is not cofféct but R is correct.
!
explanationof A.

o
o

The flippers an;l Penguins and Dolphins are

the example of the g

(1) Natural m!ﬁim i

(2) rmm%rnluﬁnn \\
(3) Divergent efdlution

@ Adaptive .%.im

Which of the following factors are favourable for
the formation ofigkyhaemoglobin in alveoli?

(1) High pO, ﬁ Lesser H' concentration
(2) Low pCO£Ghd High H* concentration
() Low pc‘ﬂgd High temperature

() High pO, ki High pco,

| Contd...
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; @ Match List | with List I} ¢ List 11
A E::uum gkl | SHMETESS
cpithelivm . Pancreas
B. Compound epi 1. Goblet cells of
Ran HUI‘[IWIHJ‘.T 2 alimentary canal
glandular q:'ﬂhd"r [v. Moist surface of
D. Em:-mﬁa&"_ buccal cavity
Chmum the correct answer from the OpRcan e
below :

\

(1) ALY, BILC-
(2) A-llL, B-IN.C-
(3) AL, B-1, C-IV, DI

(4) A-Il, Bl C-1IL, DIV

187 Choose the correct statement given below

‘%

R1 English |

regarding |
() mmhﬂmﬂmﬁﬂm

lies in the

(2) Loop of Henle of juxta medullary nephron
runs deep into medulla.

(3) Juxta medullary nephrons outnumber the
contical nephrons.

(4) Juxia medullmjm-phromw located in the
columns of Bertini.

Identify the correct uptm{AHBL (C). (D) with
respect 10

QoRH__ :
1{1 - (AFSH
il 1
mpeloy il -
Il Il
L
i
Formation of spermatids (1]

(1) ICSH, Inmilhlulk. Leydig cells,
spermiogenesis.
(2) JSH, Smnli cells, Leydig cells,
nmupcnﬂu
(3) ICSH. Leydig cells, Sertoli cells,

SpEMatogencsis.
(4) JFSH. I_..cyd__i;_lf'clls. Sertoli cells,
SpermMIOgCREsis..

UAE | Qatar | Saudi Arabia [

o Iﬁ to 200) ]

189 Match List | with List 1 :

List 1 List 11
A. Pwave L lth“
clectrically silen
B. QRScomplex Il Depolarisation o
ventricles
C. Twave 11, Depolarisation of
atria.
D. T-Pgap IV. Repolarisation of
ventricles.

Chmﬂ:mmﬂ:m firom the options gry
below :

(1) A-lL, B-IL. C-IV, D-I

(2) Al B-II, C-1L, D-IV

(3) A-IV, B-Il, C-L D-II

4) A-l, B-lIL C-IV, D-Il

Given below are two stalements :

Statement | : Bone marrow is the main lymphod

organ where all blood cells including lvmphocs

are produced.

wu:mdem

provide microenvi

and maturation of T-lymphocytes.

hhlﬁdhmm“tﬂ

appropriate answer from the options given belos |

(1) Both Statement | and Statement Il are
incorrect.

) Suumli:mwuwﬂﬁ
incormect.

3) Mﬂllk'mmwu"
cormectL

m/ Huhmlndwu““’"":

: | f"""i
- 5
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m‘/ﬁiwn below are twy Mtemeny .
. gratement | : ;
principle states that two gl
competing for different pagoy - "o SPecies
indefinitely. » T8 Canioy exist

statement 1 Aceondiy,
: po 8 10 Gayge:
during competition, the inferio, e Principle,
This may be true if resourceg o ling
. iti
In the light of the aboye

y{ Match List I with List 17 -

List I

%,

List 11

Excess secretion of
cortisol, moon face &
hyperglycemia
Hypo-secretion

of thyroid hormone

D. Cretinism (A"

of growth hormone.
Choose the correct answer from the options given
below :

(1) A-1V, B-ll, C-1. D-ll1

VQ{}* A-ITL, B-IV, C-ILD-1 options given below -
(3) A-lII, B-IV, C-1, D-1I (1) B ouly (2) C&Boaly
(4) AL, B-III, G-I, D-IV B) D&Eonly  (4) Aoy
Hl_Engljah I it | Contd--
=
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Match List I with List 1] related Indi!mh’c system

aof cockroach

List 1 List 11

A. The structures used L Gizzaed
for storing of !l'cl-c;]'.1I

B. Ring of 6:8blind :_,____.Jiv Gastric
whules atjunctionof\ | Cacea
foregut and midpll_;

C. Ringof 100-150 yel . Malpighian

tubules
D. V. Crop

for grinding the food.
Choose the comect answer from the options given
below :
1y A-l, B-IL, C-IL, D-IV
(1 L
() A-IV, B-IIL, C-I1, D-1
(3) A-lL B-II, G-IV, D-1
4) A-IV. B-11, C-1IL. D-1
SO e cn

M/.ﬂus per ABO blood grouping system, the blood
group of father is B, mother is A* and child is

CALBi i

iald
B. 1818/ M0A 15 iat
C. MB/A 18 ‘ni" pe
D. /1B i
E. ilB/iA e -

Cm“*mﬂ!ppmprhumuﬁ'mm
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39 Match List I with List 11 Lt
st 1 RNPS
A. RNA .

seuptl a0, factor
C. Splicing of Exons’ j a0
8 As.
D. TATA box SaRN
Mhmﬂmﬂﬁﬂﬂ"w'
below :
(1) AN, B-1L, C-IV, DI
(2) AJIL BV, C-1, DI
) AV, BAlL C, DA
(4) AJLBIV.CL mq;
2
196 March List I with List Il ;1
List 1 List 11
A. Mesozoic Era L L&-emmhh"m
B. Proterozoic Em II. Fish & Amphibia
C. Cenozoic Era  I1l. Birds & Reptiles
D. Paleozoic Era 1V Nfammals :
Choose the comect the options given
below

(1) AL B-1, C-I1, D—tg
(2) A-L B-I, CIV, D-IIES
(3) AL B-1, G-IV, D-ILE)
(4) AN, B-1, CA11, D-IV
197 Given below are wo :
Statement I : The cerabital hmuphﬂu are
connected by nerve trags known as corpus
callosum. O
Statement 11 : The braifi stem consists of the
medulla oblongata, pons afid cerebrum.
In the light of the shove statements, choose the

below :

(1) Both Statement I'8hd Statement 11 are
incorrect. ri

(2) Statement | is correct but Statement Il is
incorrect. Q

(1) Statement | is incofreit but Statement 11 is
corroct 3

(4) Mwm’ﬁuﬂmﬂlnm
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Regarding catalytic cycle of an enzym,
select the correct sequential steps - ticn,
A. s-“bﬂl'“lﬂ complex formation
B. Free me 1o Bind w
'-‘-ﬂl.‘f m‘:ﬁy ith Wiy,

C. Release ol‘ protucts.
D. Chemical bord of the substrate brokeq
E. Substrate bintliag to active site.

ﬂwm fm‘“ﬂ"m:h“

) Q.E._B.DC
(2) B,A,C,D,ES
(3) ED.C.B A
(4) EAD,C,
o
Given below are twy statements :
Statement [ : Mita€hondria and chloroplasts are
both double membrane bound organclles.
Statement 11 : Inner membrane of mitochondria
is relatively lessspermeable, as compared 1o
chloroplast. -
Inthe light ofthe ab@® statements, choose the most
appropriate answetfom the options given below
(1) Both Staterfeht | and Statement 11 are
incorrect,. ©
Q@ wlﬂm«fmmtuh
incorrect.
(k)] mlmhﬂmﬂh
correct. ‘I-I
(4) Both Statemanp and Statement [l are correct.
o
26" The following afithe statements about noa-
*  chordates : -
A.  Pharynx is phforated by gill sliss.
B. Notochord is absent.””
C. Emﬂmmm
D.
E.

lfwuwt/

(4) A& Conly
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